[Time: Three Hours]

Q.P. Code : 11934

Please check whether you have got the right question paper.

N.B:

Figures to the right indicate full marks.
Use of simple calculator is allowed.
Graph papers will be supplied on request.
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Q.1 Attempt any two of the following.
a) Define research and state the charateristics of scientific research.
b) Explain various types of research.
c) Elaborate the process of research work.
Q.2 Attempt any two of the following.
a) What are the criteria of a good sample?
b) Discuss merits and demerits of sample survey method.
c) Describe various probability sampling methods.
Q.3 Attempt any two of the following.
a) Discuss merits and demerits of observation method.
b) Explain questionnaire method of data collection.
c) Give a brief report on any case study that you have undertaken.
Q.4 Attempt any two of the following.
a) i) Write a note on — ‘bases of classification’.
ii) Draw Histogram for the following data.

Attach the graph paper inside the answer-book.

[Marks: 100]

Attempt any five questions, selecting not more than three questions from each section.
Answers to both the sections should be written in the same answer book.
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b) Calculate arithmetic mean and mode for the following data.
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Weight(in kgs) 20-25 25-30 30-35

35-40

40-45

No.of boys 15 25 30
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c) Calculate Quartile Deviation (QD) for the following data.
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Income (Rs) 100-150 150-200 200-250

250-300

300-350

350-400

No.of workers 05 12 23
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Q.5 Attempt any two of the following.
a) Calculate Spearman’s Rank Correlation coefficient for the following data.
Marks by Judge | 80 78 90 92 75
Marks by Judge | 90 87 93 91 89
b) Find the regression equation of X on Y and Y on X for the following data.
n=10 >X=250 >Y=320
byx=0.95 b.y=1.05
c) Fit a trend using three yearly moving averages.
Year 2006 2007 2008 2009 2010 2011 2012 2013
Production(in kgs) | 220 240 250 270 290 300 310 330
Q.6 Attempt any two of the following.
a) i) Explain the uses of index numbers.
ii) Find real income for the following data.
Year 2006 2007 2008 2009 2010
Income (Rs) 600 700 800 900 1000
Index number 110 115 120 125 130
b) Calculate Fisher’s Index Number for the following data.
Commodity Po Qo Ps Q
A 20 10 22 10
B 25 12 30 12
C 30 8 40 6
c) Calculate Cost of Living index number for the following data.
Commodity Current Year Price (Rs) Base Year Price(Rs) Weights
Food 60 55 25
Clothing 40 32 15
House rent 30 28 22
Fuel and lighting 25 22 18
Miscellaneous 50 46 20
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Q.7

Q.8

Q.P. Code : 11934

Attempt any two of the following.
a) Define hypothesis and explain its role in research.
b) What are the criteria of a good hypothesis?
c) Explain various types of hypothesis.

Attempt any two of the following.
a) Discuss types of a Reseach Report.
b) Outline the structure of a Research Report.
c) What are the precautions to be taken while writing a Research Report?
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